AR ST X R GRITD)

WH S AR (SFEBSIMNIE)D

Bz JiT6

TiH AR (B4 &

o Bt SRCH b gy it
At 56. 84
T A= X E /g | 56. 84

T. 1 a8k 1B ETehh: N TR LI e Sohi e e by

{H:100%; FEREFEFE:100%. 2. 1-F= 48R 11-$Edehs, hEs
By ST A WITRFRE : 100%; FEEFRFRAME:100%. 3. 177 Hifedr: 11-%0s

JE I WU e R U, Yebr; BURE R T St FessE 8 11000000; FEHEWRE: BT

PREEEUMJE A L% AR |100007T. 4. 1-7P= Tk 1I-BEi86s; BURE RSV St E s

B IR BTk 8. 09 FIZH, SRAMEG NS A hr S b e AR ER. 5. 1P H48hs; 11-FuETeir: %W
R ) O, BhhERAREEZ (SN AR St B T PRME : 100%; S EFEARME: 100%. 6. 3=
BHEERE ST, PREFRH  |JEEhR; SI-RESMRWHRE; WEAE; S Nfeied: ib8UmiTE,
W LAEIEH TR, RAME TR ; FEEAME: EZUMTHR, BARSFRE . 7. 3R
bR S-S RMREE,; LEMBESERAAWE, BEEEAERK
TAE, RIEAAMME. 5 SChFWHEFR bR BT, EEHERX

HR %%« AEFEAR bR . L i R SO B, R SR X% _

TR I 3 T W 3 3 T O 3 € p ST R A B
N | 100%; SERERRRRIN: 100%, 2. 17~ HidfhR: 11-XURIERR: 2 X5
B L L Fa N, SRR : R A7 k35 s FIEIRA I
&E%}zig‘ %%25[%—\‘%& &%§$$535J\a 3\ }7FtHTE*i:, 117%(%TE$ZIE‘; %%}?\,%ﬁ%zl iﬁ@}%/ﬁﬂ
RS X4 HE A R B 8 T AT ?E*@E:lgoo/i ‘fﬁ@%ﬁﬁ;woﬁ"}‘ 1?%%5%; 11—3&;?‘5%1 %ﬁ}uw
% (lzyyz'\{j%) 25.38 %’ 1%B%$&%Dﬁ§y @ﬁ ﬁ%ﬂ”/\’ﬁb@ﬁk$,‘%&j@}g:ﬁﬂh%ﬁ%ﬁﬂfo%,‘ggﬁﬁjﬁéﬁﬁﬁﬁio 5

. T T gy |1 R TSR RS K AR S

g%ﬁgﬂtﬁﬁ’gﬁﬁ 1:100%; 4EFESEFRIE: 100%. 6. 2-R(aidebr: S1-MREA RIS, KK
“ R TERLRE SO AR AR KT O8%: AR AR KT O8%. 7. 3R EL

° bRy S1I-ARSS MR RE, KK, FAMWRR, S TESAME  KT98%;

CEFEIRARE : K T-98%. 8. 3V IRTE: 31-MRB X QUMEUY: RS,
T. 17 3R Fs: [I-BURTahn: X r R8BSt )a WITR bR : 5 o 2 188
At SEFEFRAME : 255 88T, 24 1-77 iRt 11-B &R, R ES

B S A HHTEARAE : 100%; AFERRARE :100%. 3. 1-F=HiRbR; 11-3&E
; BN FH 42 fatr: BUTKRARNS 53, S0 E R RE : 100%; FEFBFRME: 100%. 4

&@%25%;@%2@ LR LB AERR, EOTIE A SR SEHE

BUR JE A 25k 0.30 {H:100%; SEEFEHRE:100%. 5. 3R EiEln; SI-IRSF LRI REE; ik

Fe. SRR #EAE SN
Hofh HH TAEAESS .

HRLEE SR RANA R, BEEAERK TR, KEAAME. ; St
JEARE : b RO, BRI AR Lk R U
W, BEEARXRS. 6. 3-MEEER; SRS RMERE; =K
RSN G R A S A R AR AR R, RTHIRS R
FEEbR . OB, SRTLARST IR




W2 Gt LA
W ERN (2

IR R L FHE L A
e, fREESHH Y
RIER B CREEH
S SN Al H R AR
%, RIBHEGRE, B
RTHARE LK, B)
F = 20 R R

L. 1= HiErR: L-HEihts; RRAIER PESm; SOt A iahs
fH:100%; FEREHRFRE:100%. 2. 1-F=HfhR; 11-BuEdats; W2 L5
BN N A R S R R R R RSN AR B35 N s AEFEHERRAA -
BEZAMEAESSS N, 3y -2 HENR; 11-SEieks; KBRS, Ll
JEHBFEFRAE : 100%; 4EREFEFRE: 100%. 4. 1-F=H38k5; 11-BEBhr;
ITBAFLES I B o8 e s S te ) PR AR 18 - 100%; EJEHRFR{E : 100%. 5. 1-
FEHERR; 1I-BEAEAR, KSR T S e R St A AR ARE - 100%;
ESEIRFRME 1 100%. 6. 3T EIRER; SI-RSWRWEE, KK, 24
BR, SR RE KT 98%; FEEIEIRE: KT 98%. 7. 3=
brs SI-MRSSI SR FERUE; SRS ARG 1 100%; FEIRIR




